CFN-3
CERTIFICATE IN FOOD AND NUTRITION (CFNOL) / @& 311 qi9or §
JHIT YA
ECONOMICS OF FOOD / WISH H 37elme
Time: 90 Minutes
Maximum Marks: 50

Note: There are 50 multiple choice questions (MCQ) in the paper. Each question has four
options. Tick the correct option. Each question carries 1 mark. / 3 I | 50 Elgi%laﬁf‘ﬂ'q
9 2| Tk T o I foehed 2| Tt foehed Wt ook ShifSTu) wdieh o 1 S T 2l
1. Which of the following are foods which provide the basic material for energy needs? /
FHTTRE | 8 i & W eTef & ST St et STl o Tog AT |l T8 hid 87
I) Rice / =19t
II) Wheat / €.
111) Edible Oil /@T ae
IV) Milk / &1
V) Vegetable / Gssit
Choose the correct answer from the options given below: /A= fgu Tu foeshedt # @ Tt 3T

RIS

A)Lland V/L I 3RV
B) I, Il and 11/ I, 11 3R 111
C)IL, Il and IV / 11, 111 3T TV

D) 1L, IV and V /1L, IV 3R V

2. Given below are two statements: / F1= a1 & o T €:

Statement I: People in the lower income group spend a large part of their income on food
items. / e I: T o711 ot o ST STUHT 1T o1 Uek sieT fewdT @ veTelt W W o d
Statement II: Foodgrains like rice, wheat and jowar are referred to as wage goods. / s 11:
T, T 3R SAT S GTTT b AT Hafifd foham ST 2

In light of the above statements, choose the most appropriate answer from the options given
below: /3UYH AT o Yo H A<l fo forehiedi § & He@t UFHd I IHT:
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A) Both statement I and statement II are correct. / F¥ [ 3T &Y [I SHT Tal B

B) Both statement I and statement II are incorrect. / ¥ | 3R e 11 SHT TTeAd &

C) Statement I is correct but statement II is incorrect. / %Y= [ &t H F%'TSDTW 11 7T 2
D) Statement I is incorrect but statement II is correct. / ¥ [ TAd H W F 1 T 2

3. Which of the following are factors influencing food expenditure? / Fe=fetiaa T q HE-A
T HIST o @ ol THTTT hLd &7

I) Income / 3T

IT) Aroma /F\le%T

I11) Tastes and Preferences / T8 3R fafir= YR o @rer uetelt i o=

IV) Hunger / Y&

V) Price of food / W et shi himd

Choose the correct answer from the options given below: A= few e forsheat & @ wE W

T

A)LIland V/L I 3RV
B) L, Il and 11T / I, 11 3R I1I

C) IL, Il and IV /11, III 3T TV

D) 111, IV and V /111, IV 3R V

4. Income ................ is the adaptability according to change in income. / ATHEH! * SR G
T TEATE A EXIS IR

A) Elasticity / &=

B) Plasticity / §&IdT

C) Inelasticity / T

D) Paucity / HT

5. Given below are two statements: / T2 3 & fe T €:
Statement I: Price index is current price as a percentage of base prices. / sh¥ I: ﬂ@w,

HTUR {3 AT o 9 H IqH Hoof bl fa@™ i 0gid g
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Statement II: If in 2001-2002 (base period) wholesale price of wheat was Rs. 700 per quintal
and in 2007-2008 it 1s Rs. 960 per quintal. The price index is 187. / hY 1I: g 2001-2002
(ST Y H T <A1 Aok o 700 TR Fid fefsieet o1 3T 2007-2008 H F€ 960 &9 Hfef fereieet 2
I o1 Yo Fehish 187 B
In light of the above statements, choose the most appropriate answer from the options given
below: /3UYH AT o Yo H A<l fod forehiedi § & Hedt JuFHd I IHT:
A) Both statement I and statement II are correct. / T [ 3T &Y 11 EEIR S
B) Both statement I and statement II are incorrect. / ¥ | 3R A 11 SHT TTeAd 2
C) Statement I is correct but statement II is incorrect. / %Y= I Gal H W FU 1 T 2
D) Statement I is incorrect but statement II is correct. / ¥ [ Tedd %W F 11 T 2

6. Which of the following are the three groups in which foods can be classified based on the
requirement to produce them? / Fefefaa o @ g & g 2 TS0 @er et &bt 3
ICATEH oh I o SATIR T FMeha ToRaT ST HehlT 52

D) Air /a1g

1I) Land / @d

II) Animals / 9]

IV) Water / Siet

V) Temperature / dT9HTT

Choose the correct answer from the options given below: A o e et & @ Tt S

FHT;

A)Lland V/L I 3RV
B) L, Il and 11 / I, 11 3R 111
C)IL, Il and IV / 11, 111 3T TV

D) 1L, IV and V /111, IV 3R V

7. If requirement of wheat is 80 million tonnes and yield per hectare is 4 tonnes, calculate the
area (million heactares) required for production of wheat: / afg ﬁ"{:’v\ﬁ SATaIhaT 80 e o
& S Tl S IUS 4 T &, N T, oh IcuTe o [oTQ SATargdeh &t (frrfera gerear) ot TorT hifsru;
A)2.0
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B) 0.25

C) 25

D) 20

8. With regards to nutrients, if a fertilizer bag has 17 : 15 : 13 written on it. It means 100 kg
of fertilizer contains: /‘ﬂWﬂEﬁ%Wﬁ, qm@déich T 17 : 15 : 13 Torar 21 38
Haetd ® T 100 ferum. 3dtes o it &

A) 17 kg of N, 15 kg of P and 13 kg of K / N &1 17 fohm. P &7 15 ek, 3R K 1 13 fopam.
B) 17 kg of K, 15 kg of N and 13 kg of P/ K @T 17 fruT. N & 15 fopum. 37 P ot 13 fopmm.
C) 17 kg of P, 15 kg of K and 13 kg of N / P &1 17 ferum. K &T 15 feram, 37T N =7 13 fopam.
D) 17 kg of N, 15 kg of K and 13 kg of P / N & 17 feruT. K =T 15 fehum. 37 P =7 13 TR,

9. e is the art/science of rearing and harvesting fish. / Tl I UTe T hel/ T

A) Aquaculture / TFdTehe=l{
B) Pisciculture / fodiehe=rt
C) Agriculture / THTshe=i)y
D) Horticulture / Beheak
10. Match List-T with List-II: / &=i-1 31 g=i-11 ¥ fHer i
List-I / g=i-1 List-II /

-1

(Type of plants in kitchen garden) /

(Example) /

(T =] SITTET H W o Tehw)

(3aTET)

a) Perennial plants / FGTSER e i) Green leafy vegetables / & UeR Hfesal
b) Creepers / AT ii) Cucumber / G

c¢) Ornamental plants / ASTTEY Ot iii) Cocout / TR

d) Seasonal vegetables / et afesat iv) Rose / ATl
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v) Wheat grass / s8¢ U9l
Choose the correct answer from the options given below: / ﬁ%ﬁq@ﬁﬁﬁﬂﬁﬁ?ﬂﬁﬁz
A) a-iii, b-i, c-iv, d-ii
B) a-iii, b-ii, c-iv, d-i
C) a-i, b-iv, c-ii, d-iii

D) a-ii, b-iii, c-1v, d-i

11. The programme under which the Government supplies essential commodities to
consumers at reasonable prices is called the ........... / I T fSHF a8 TR 5
SUWIFATSAT i Iferd Hod T HTITI 3| bl U LI shl T S ............ e &
A) People Distribution System / ST TereroT JoTTett

B) People Distribution Scheme SERCIURISE]

C) Public Distribution System / @TasTi-eh ferawor Jorreft

o

D) Public Distribution Scheme / GTast{~eh foIaTor AT

12. Which of the following are distinctive categories for which ration cards are issued under
TDPS? / fferfiad & & -t Afor s Aeidied & qed TeH 1e S foru sima 82

I) Marginalized / &TfRTT 9T

IT) Extremely poor / ERCRINE]

I1T) Below poverty line / T @ 8 e

IV) Above poverty line / Tt {@T & S

V) Antyodaya Anna Yojana / el 3T Jisi1

Choose the correct answer from the options given below: / :ﬁ%ﬁ{Q Ta IEETRIR: KRS

IHT;

A)L, Iland V /L I 3RV
B) L Il and 111 / I, 11 3R 111

C) IL, 11l and IV /11, I1I 3T IV

D) L, IV and V /III, IV 3R V
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13. Match List-I with List-I: / €=-1 31 g=ft-11 & fHet i

List-I / g=fi-1 List-II / g=fi-11
(Category) / (éivﬁ) (Benefits provided) / (93T [E2Y
T ™)

a) BPL / T Y o e 1) Rs 2 per kg of wheat/ 2 w93 gfd fopa. ﬁ—i}i

b) APL /TSt F ST ii) Sell at MSP / THTE} 9T =T

c) Antyodaya Anna Yojana / AT A AT 1i1) Stocks are issued at a cost of 25% of
economic cost / TTeh s AT Iltfqa?

25% 31 G 9 S= STl &)

d) FPS /ﬁﬁﬂl“ﬁ@ﬁ iv) Stocks are issued at a cost of 100% of economic cost | T T
3T T 6 100% 3T T = ST

v) Stocks are issued at a cost of 50% of economic cost / TTeh ot ATIfeh ugaéa 50% 3hT GLIT
ST ST 2

Choose the correct answer from the options given below: / ﬁ%%ﬁ@ﬁﬂﬁﬂﬁﬁ?ﬂﬁﬁ
A) a-iii, b-i, c-iv, d-ii

B) a-iii, b-ii, c-iv, d-i

C) a-v, b-iv, c-1v, d-i1

D) a-ii, b-iii, c-iv, d-i

14. Given below are two statements: / < a1 he o T 8:

Statement I: Fair Price Shop is one in which commodities are sold at reasonable and fixed

prices. / Y I: 3 T T o H &3l b1 Ifere A Frerffiee et ox s Sireit 2
Statement II: Fair Price Shop are popularly called ration shops. / & 11: ﬁﬁaﬁ@@ﬁ
AT Y &9 & T hT G el ST 2

In light of the above statements, choose the most appropriate answer from the options given
below: /3Ued o1 o Teh1er # i< o forshedl # & ot U I T

A) Both statement I and statement II are correct. / ¥ | AR YA 11 341 |1 2

B) Both statement I and statement II are incorrect. / Sp¥ [ 3R Y 11 31 TeTd 2

C) Statement I is correct but statement I is incorrect. / h [ g e WW 1 7Tt 2

D) Statement I is incorrect but statement II is correct. / ¥ [ TeAd H W F [ T 2
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15. Procurement price + Procurement incidentals + Distribution incidental =.................. / T
1 T + SFHETA B AT Gl -+ ToIeT o T B 1K T = ..o

A) Issue price /ﬁr‘afﬁ?ra\w

B) MSP / UH. TH. Ut

C) Economic Cost / i q

D) Subsidy / TR §IT AT TR

16. Give below are two statements: / 1=l &1 e & T €;

Statement [: Backward linkage relates the trading, transport and banking sector depending on
agricultural sector. / T I: Te=TTHT T Y & o IcaTaH W AR, THEe I ST &
T 3T 2

Statement II: Forward linkage relates to the Agricultural sector creating a demand for
products of non-agricultural sector / 3 I1: STITH TEEET T-HTY & H T-HT & o Icdral
61 7 ST Y T Y 8 & e B

In light of the above statements, choose the most appropriate answer from the options given
below: /3Ued T o Teh1eT # i< o forshedl # & ot 39 I T

A) Both statement I and statement II are correct. / sh¥ | 3R FHYT 11 ST Tt 2

B) Both statement I and statement II are incorrect. / ¥ | 3R e 11 SHT TTeAd &

C) Statement I is correct but statement II is incorrect. / Y= I Tal H F%'TS[W 11 TTeTd &

D) Statement I is incorrect but statement II is correct. / Y [ TAd %W F 11 T 2

17. If cost of 1 kg ground nut seeds is for Rs. 20 and a subsidy of 15% is given on it. What is
will be the actual price paid? /3t 1 fopam. W%Waﬂﬂ@ 20 T & I W 15% ht

3ATFIe HETT & ST 81 37 ATEA ook o Hod &1 GRTT?
A) Rs. 20
B) Rs. 17
C) Rs. 23
D) Rs. 15
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18. Match List-I with List-II: / €=-1 31 g=ft-11 & fHetr i
List-I / g=fi-I List-II / -1
(Types of seed) / (Eﬂ\_rfa’:W) (Characteristics) / (%l‘ﬁﬁl?l'ri)
a) Hybrid / TR i) Seed obtained by cross pollination of generically diverse plants /
AT RTeR &9 § farferg At o shig qemTor g STed sfist
b) Breeder’s / IS4 i1) Quality seeds developed by scientist on research farms / SR g
HLHET B G TUrET foreh i sitst
¢) Certified / THTUfTehd iii) Seeds used by farmers for growing crops / & I o foru fepam
ST ITANT fohT ST ATt AT TR 1T 31=ast foremt o a1t
d) Foundation seed /3T sitsl iv) Seeds distributed to farmers for mass production A=K
U T IcTE o foIe fopami ol forafia st

v) Seeds obtained from retailed market / Gl SITSTR ERISEEIE
Choose the correct answer from the options given below: / = fou T foreheat O Tt S ﬂﬁ?:

A) a-iii, b-1, c-1v, d-ii

B) a-iii, b-i, c-ii, d-v
C) a-i, b-iv, c-ii, d-iii

D) a-1, b-1i, c-ii1, d-1v

19. Which of the following organization work for agricultural extension in India? / fefafaa
T H -1 TS TRA | i oeqr o foTT 1 hidT 82

I) ICMR / 3TTS. ©Y. U0, 3T,

I1) State Department of Agriculture /ECI?fE[TIFJ%NFT

I1I) NIN / U4, 3718, T,

IV) ICAR / 375, Y. T. 3R,

V) NGO’s / TR-GTehT G

Choose the correct answer from the options given below: /A= feT T foesheat & & Tl 3w
IHT;

A)Lland V/L I 3RV

B) L Il and 111 / I, 11 3R 111

C) IL, 11l and IV / 11, 111 3R IV
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D) IIL, IV and V / III, IV 3R V

20. In which year the national policy for farmers was approved by the Government of India?
/ AT SR G USRI W A1 b forer o o Sreifad foarm T em?

A) 2004

B) 2007

C) 2009

D) 2013

21. Which of the following species of birds are categorized as poultry? / F=ferRaa uferat i
SISTTferlt § & foprent Wit urer o st afért st oftera fopam a 22

I) Chicken / Hif

11) Duck / s

IIT) Peacock / aIEy

IV) Sparrow / T

V) Pigeon / e[

Choose the correct answer from the options given below: A= few T foreshet o @ T W

IHT;

A)LIland V/L LI 3RV
B)L Iland V/I, I 3RV

C) IL, 11l and IV /11, 111 3T IV

D)IL, IV and V /I, IV 3RV

22. Given below are two statements: / 1= &1 e &3 T €;

Statement [: Broilers are the birds reared for meat purpose. / s I: SZ, HiT o foTT gret
ST ATt et gl

Statement II: Layers are the birds reared for gaming. / ¥ II: AT, W o AT uTet ST ared
&t &l

In light of the above statements, choose the most appropriate answer from the options given

below: /3Ued T o Teh1eT # i< o forshedl # & ot U I T
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A) Both statement I and statement II are correct. / F¥ [ 3T &Y [I SHT Tal B
B) Both statement I and statement II are incorrect. / p¥ [ 3R e 11 SHT TTeAd &
C) Statement I is correct but statement II is incorrect. / Y= [ gl H F%'TSDTW 11 7T 2
D) Statement I is incorrect but statement II is correct. / ¥ [ TAd H W F 1 T 2

23. Match List-I with List-II: / @=ii-I 1 g=f-11 & fHeT :
List-I/ g=fi-1 List-II / g=fi-11
a) Hatchery / &= 1) Fishing in rivers, lakes, ponds and reservoir /

TR oh! ST
b) Inland Fishing / 3d: TIIT AT I ii) An enterprise where chicks are sold / T
JEW STET <A1 2! oIl STl &

¢) Marine Fishing / 9% T Ol geoheT 111) Hens above 72 weeks of age /72 qedre o
wifers 3m <1 gt

d) Spent hen /aﬁggﬁ 1v) Hens less than 30 weeks of age / 30 TedTe o
W 3Y ! qRr

v) / Deep sea fishing / & §H3 H HS ToheHl

Choose the correct answer from the options given below: / i few o foraredt O ot S Eloiilﬂ:

A) a-iii, b-i, c-iv, d-ii
B) a-iii, b-i, c-ii, d-v
C) a-i, b-iv, c-ii, d-iii

D) a-ii, b-1, c-v, d-iii

24. Which of the following is NOT a government scheme for poultry development? /
fFrefetad o & -5 diedt faehd o Tt Ush Tiepr JsHT T8 82

A) IRDB

B) PMGSY

C) DWCRA

D) FISHCOPFED
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25. In which of the following two states poultry cooperative are performing well? /
frfetiaa 3t Tt | | forer | 7l arer wrehiaTd welt-wiifd s fredmed =6t &1 &2

I) UP /3 dt.

IT) Karnataka / FATh

II) Gujarat / TSI

IV) TN / afeTg

V) Maharashtra / HaS

Choose the correct answer from the options given below: /A= few e foeret # @ T S
IHT;

A)land V/13RV

B) I and III / I 3T 111

C)lland IV /Il ARV

D) Il and V /I 3R V

26. Operation flood programme is also known as the .............. revolution. / STRIM TS
FRFH A ........... Shifcl o AT B off ST ST 2

A) Blue / Jtet

B) Green / &

C) Red / <Tet

D) White / T%g

27. Which of the following scheme is implemented in non-operation flood areas for dairy
development? / FETIRE T F -Gt T S0 e o fofu - %es %ﬁﬁw@
T R?

A) National Dairy Development Board / TS S8t foerra 1€

B) National Bank for Agriculture and Rural Development / T ‘OEFGT A Treor forekr ek
C) Intensive Dairy Development Programme / €& CONRCEar i apER

D) Strengthening Infrastructure for Quality and Clean Milk Production / W IR ==
ECERICE o TT =Tt ST 1 ggdte
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28. The first phase of operation flood was between the periods: / AT FAE T TgAT =T
forer aTafer o ff=r am?

A) 1965-1969

B) 1970-1980

C) 1981-1985

D) 1986-1996

29. Indiaranks ............ in milk production in the world. / YR fova ﬁ‘q'fl ST oo,
T W R

A) Last / 3TTRalt

B) Third / €&

C) Second /Egﬁ'

D) First / T8l

30. If the per capita availability of milk is 394 gm/day. Per capita refers to 394 gm of milk is
available to: / < ge1 AT Il ATk IuTetr 394 U/ B goehT AT @ - 394 UMW ...
! 3T 2

A) Per person per day / Jfd s Ifd o

B) Per person per week / I STth Jid GwTg

C) Per family per day / gt afar g o

D) Per village per day / i T afd o

31. The institute of excellence in nutrition in India is: / YT § AT T IchSE FEAH HH-AT T2
A)NNMB /T, @4, @H. &,

B) NIN / . 3718, TH.

C) NHFS /T4, Td. Uk, TH.

D) ICMR / 3T, €1, TH. TR,
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32. Which of the following supplementary feeding programme is no longer operational? /
ffARad W @ IH-HT Ik HTER HRIsHH 37e HTe H 8] o7
A) ANP /T T, 9.
B) PMGY /4. T, Sft. s,
C) BNP / st. T, U,
D) ICDS / 3Ts. . &, ua.

33. Which of the following programme is re named to PM POSHAN in 2001: | Fefafaa g @
ToReT ShTRIshA ohT ATH aeteRt 2021 ¥ |Y. T, TNoT &L fo=m T 22

A) ICDS / =18, #. €I wa.

B) WFP / S5, T%. 1.

C) MDM / WH. €. UH.

D) BNP /&, @, dl.

34. Match List-I with List-II: / €=t 1 g=fi-11 & firet shifsre;
List-1 / g=fi-1 List-11 / g=fl-11
(Programme) /  (Nutrients supplied (Energy, Protein)/(STIm)
(dTe, el shT TR (FsH, TEM)
a) ICDS, 6 mths — 6 yrs. / 3T5.H.€1.Td. 6 ATE 6 AT i) 500 Kcal,
12-15 gm / 500 foredt shaaidt, 12-15 TTH
b) ICDS, severe underweight (6 to 72 mths) / TS 1 €1 uw. AATIF FH aoi (6 72 A1e) i) 800 kcal,
20-25 gm / 800 fohetiehetiY, 20-25 T
¢) ICDS, pregnant and lactating / TS T Ehuw., e} 3R Ta-uT o aTeft Afgar 111) 600 kcal,
18-20 gm / 600 TeReATehet I, 18-20 W
d) PM POSHAN, children in primary school / 9T.TH. qroT, Jrerfiek foee O s 1v) 450 kcal, 12
gm / 450 fRetieralid, 12 79 v) 800 keal, 10 gm / 800 feraTtehetidt, 10 ImH
Choose the correct answer from the options given below: / = fou T forehedt O Tt SR ﬂﬁ?:
A) a-iii, b-1, c-iv, d-ii
B) a-iii, b-i, c-ii, d-v
C) a-i, b-ii, c-iii, d-iv
D) a-ii, b-i, ¢c-v, d-iii
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35. Which of the following two nutrients are given under the NIPI programme? / T. aTs. .
TS, HRIHH o dgd (EfTRad 3§ 8 i & &1 GI¥eh ded 9T SI1d 87

1) Iron / & acd

11) Iodine / NN

11I) Folic Acid / ®ifeTeh Tfire

IV) Vitamin A / = T

V) Zinc / St&at (Sieh)

Choose the correct answer from the options given below: /A= few e foeret # @ T S
IHT;

A)land V/13RV

B) I and III / I 3T 111

C)lland IV /Il ARV

D) Il and V /I 3R V

36. Following are the supplementary feeding programmes. Arrange them in chronological
order based on their lunch year: / FFIfTRad TToh TSR HHA & 3 Ioh JEATT TN o STUR
T HTATShIH shH H sFafeerd hifsru;

I) Balwadi Nutrition Programme / ATATATS! ATER FTshH

IT) Prime Minister Gramodaya Yojana / TeI=wT TG AISHT

IIT) Integrated Child Development Services / gufead aTet forshre Sard

IV) Mid Day Meal Scheme / 9€dT& SISEECADER

Choose the correct answer from the options given below: A o e ot & @ Tt S

T

A) LI IV and 1T/ 1, II1, TV 3R 11
B)LIL I and IV /L, IL, I 3R IV
C)IV, I, Tand 11/ IV, 111, 1 3R 11

D)IL, I, Il and IV /11, I, Il 3R IV
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37. Which of the following qualities will be considered for grading vegetables? / |fesr st
UTET o fore Forfetiad H & =hi=-8 o1 ot forer fepar STTam?
1) Maturity / 9igeIdr
IT) Place of production / 3c4Ta shl ETq
I1I) Size / AT
IV) Nutrient content / 9IYeh deall shi ATAT
V) Freshness / At
Choose the correct answer from the options given below: /A= few e foeret # @ T S

RIGIE

A)Lland V/L LI 3RV
B)LIland V/I, II 3RV

C) 1L, I and IV / 11, 111 3R IV

D)IL, IV and V/IL, IV 3RV

38. Which of the following arte disorders caused by unsafe drinking water? ) Fefafaa g @
-4 TR STgRfard i o Tt o ShIoT BT 82

I) Malaria / TATET

IT) Diarrhoea / 3&d

IIT) T..B / 2t =i,

V) Cholera / €<TT

V) Typhoid / ZI%IEE

Choose the correct answer from the options given below: A o e ot & @ Tt S

IHT;

A)Lland V/L I 3RV
B)LIland V/I, I 3RV

C) IL, 1l and IV / 11, 111 3T IV

D)IL IV and V/IL, IV 3RV
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39. Which of the following food are available with AGMARK seal? / fFreferfaa @ @ sF-a1
TSI WHT e o 91 3UTeY 27
I) Flour / 31T
11) Edible Oil / @M I oA
IIl) Egg / 3AvsT
IV) Suji / gsit
V) Milk / g9
Choose the correct answer from the options given below: /A= few e foeret # @ T S
T

A)LIland V/L I 3RV
B)L, and IV /1L, Il 3R IV
C) IL, Il and IV / 11, 111 3R IV

D)IL, IV and V/IL, IV 3RV

40. The regulatory body which provides standards for different foods: / ERIECAECADASIRCIG)
TaTT o oIt 719 YoM LT 2

A) FSSAI / U%, UH, TH. U, 37T,

B) FCI / T, H. 37TE.

C) NIN / T, 378, T.

D) ICMR / 318, ©Y. TH. 3K

41. Which of the following are food items for which standards are available? | Fefafaa g @
a1 @ veTd ® fores foT ATk Sueisy 27

I) Wheat Flour / ﬁT:‘w’:W 1T

IT) Processed peas / T&EHd AL

[IT) Onion / TS

V) Potato / 3Te]

V) Bsicuits / fsiehe
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Choose the correct answer from the options given below: /A feu e foereat ® @ T W
%l'ﬁﬂl:

A)L, Iland V /L I 3RV
B) L, Iland V /1, II 3 11
C) IL, Il and IV / 11, 111 3R IV

D)IL, IV and V/IL, IV 3RV

42. Match List-I with List-II: / @=i-I 1 g=A-11 § e shifs;

List-I/ g=fi-1 List-11 / g=fi-11
(Food) / (TTer UgTef) (Adulterant) / (fHaTTaR)
a) Butter / HRgq 1) Mentanil yellow / HeTfet e
b) Ghee / =t ii) Water / 9=t
¢) Turmeric powder / 8xal UISST 111) Dalda / STeAeT
d) Milk / g9 iv) Banana / el
v) Coloured musk / T ‘{H‘T

Choose the correct answer from the options given below: /ﬁ%ﬁq@ﬁﬁ?ﬁﬁﬂﬁﬁ'{ﬂﬁﬁz
A) a-iv, b-iii, c-1, d-ii
B) a-iii, b-i, c-ii, d-v
C) a-i, b-ii, c-iii, d-iv

D) a-ii, b-i, c-v, d-iii

43. Which of the following is NOT a procedure to overcome adulteration in food? / SISCR:|
fireTTare & s o foru o= 1= shteT =nfew?

A) Buy from cooperative / Ggh] gchlvl\i T @l

B) Buy from familiar shop / atefera GhT g T

C) Buy unpackaged food / EEIRRCAED) BATTE veref et

D) Buy packed food / 35S BS Qe
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44, e is the process or act of mixing some other inferior quality commodity in food. /
............ WISt | foeft 311 e Turer aTeft aq ot fetT =t siskar o s 8
A) Germination / 33IT=I°'T(UT
B) Adulteration / fiettae
C) Fortification / BT ThehIT

D) Supplementation / JTehdT

45. Arhar Dal is adulterated with .......... dal. / STE AT ... a1 sl firettae Bt Bl
A) Moong /IT:T

B) Urad / 38

C) Masoor / HFL

D) Kesari / Fed

46. Consumer ........... means right to acquire the knowledge and skills to be an informed
consumer. /ST .............. =T 37, o SUHTERT B o fIT T I hITet STeed i
TR 2

A) Rationalization /{Iﬁﬂ?ﬁ

B) Education / f3rear

C) Protection / gT&T

D) Preparation / 9T

47. Latest amendment in the Consumer Protection Act was made in which year ? / VAT
T AT § T €ee fohg 9 § feram TR 12

A) 2021

B) 2015

C) 2010

D) 2019
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48. Which of the following are consumer voluntary agencies to educate the consumers ? /
IqeTearel s f¥rferd = & fore faefafaa 3 @ fa-d Susiedar Qfses ittt 22
I) Consumer Coordination Council / SUTRIT TH-T IiEE
IT) Consumer Welfare Fund / SUNIHAT TN I
IIT) Consumer Guidance Society of India / WTW@HW AT 3’%’93”
V) Consumer Online Foundation / STsTerdT SIS T9
V) Consumer Protection Councils / SUNFAT TLETT IS
Choose the correct answer from the options given below: /A= few e foeret # @ T S

RIGIE

A)LIand V/L IRV

B) L, Il and IV / I, III 3R IV
C)IL, Il and IV / 11, 111 3T TV

D)IL, IV and V/IL, IV 3RV

49. The apex body for redressels to consumer disputer is ........ / TRt feramal o frramor o6
fere get=a T o H

A) National Institute of Nutrition / TSI TTS0T ST

B) National Consumer Disputes Redressel Commission / TS SusierT ferame fHamor st
C) National Consumer Forum / Tsdid JUIHAT BRY

D) National Protection Council / TS GT&I0T Iisg

50. “Jago Grahak Jago” was leading Government Campaign for ............. awareness. / STl
TTEH ST oo SIS o (AT THE SRR ST o1l

A) Santiation / T=&dT

B) Hygiene / T%TS

C) Health / &1

D) Consumer / ST




